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QUESTION 1

An Oracle database logically consists of blocks, partitions, segments and tablespaces. Physically, an Oracle database
consists of multiple files such as data files, control files, redo log files, archived log files, parameter files and temporary
files. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

Which is the NO. 1 reason for enterprises to stay with cloud provider? 

A. High level of service and SLA performance 

B. Competitive Pricing 

C. Strong Relationship 

D. Reputation as a leading cloud provider 

Correct Answer: A 

 

QUESTION 3

Which technology is used to process massive data generated by sensors in autonomous cars. 

A. Hadoop platform 

B. DB2 

C. oracle 

Correct Answer: A 

 

QUESTION 4

Five Cloud Transformation Scenarios in the Automotive enterprise are Design, Supply, Manufacturing, Sales and
Innovation. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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QUESTION 5

Which Challenges Government Digitization are Facing? (Multiple Choice) 

A. Lack of distinct development policy and plan 

B. Effective information exchange 

C. Complex management and high maintenance costs 

D. Regulatory compliance and Security risks 

Correct Answer: ACD 
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